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Math 115
Spring 2018

Lecture 14

?at+bl=c
Vs mx%[b)d,: rt

Sowme Review:

® 1s (—‘l,i) a Soluteu of {ZX "'qnf-l\/.

7(-33:‘7 ‘{

—1-3(1)=-1 SC)+I(D)=1
-4-3 =-1 -8 +9=1
=V 1 -1
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@ Solve b %m(bk\AJ method.: Yf-a =3

(o,‘\)

/ \ -3t (03)
ver by (8/5)as o Solutvon. Seln 1S

x -4 -3 9(-\-2‘(3:\%\/ i@z/S)g
R 42(5)=K

2-5=3
323

I
(®)5)

'X+23 =18
X119
Ol-3> 23 ==X -\-’%
310 _
a=§?(-\-°l
'W\:.-%

T +10=13 =RV

@ Solve ‘03 m.f\unj ) SZ a=%x-2

3=2x+3

g =x%-2
w1, NSt (0,2)

243 =%-
2% -X=-2-3%

Z=3]

Seln,

()

M%”)}a 52 3=

d=2x43
m=2 ,X-1nY (0, 3)

g% -2
J px+3]
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The Wfference oF two numbeys s 2.

The lorges ome 1S eT\Jm\ 7 4 less Yhav
23 Yimes The Swaller ane.

Use  System o5 |inear e_Tva+|‘ans S S:-'no\
both Muwbers, USR Smphinj method -

+

s Ty
X
! e %% / _“'lt 'v\umb!rs
=13x

Sdwe. ‘°3 Soks. Methed: ( 2] — Y <

Ju e
& * =g
2.(‘6-\-'1) -B :q

Sinm\ Ans
3 += 4= (8:1)
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Selve \:3 Sobs.:

157{ -\3&:-3

-2X -\-‘3:%‘ =P3-

(—%,a)

Wt Lsolafe owe
of the Varvables.

Dx+3(2x+%)= -9

SX+bY +24=-9
1x--33

Solve \03 Sobs . method :

Ix —3Y= -4
“dX + Y =

H_ 4 26+3(-2)

x -3(6 3% )=-11

X

-2x=4
X=-2

—1% —x =-

3-0

(-2,0)
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The Perimetey oF o recturgulay S\M\.Pe is

(44 D
The length 15 1% lnger than twie its
—_~—
width,

® Dvaw %\m\oﬁ\ ClenA\Y Such Y‘Q(‘\'am,\e US\'ng
Two Varmbles.

@) vse the Syskem oF linear eciw\'\ow

AV} ‘S:\Vlc}\ i A\MW 6‘0-3‘2
22w =14 =
w T84 473\'\;3\@

L=]2w+ < St

2(2\“ -\1) -\'2\}\):\%' L= 2 1
Y + 2420 =44

The Sum oY ‘wo qu\es s RO

+wite one 0% them increased \0\3 3 Fimes
Hy, othv one IS 215"

0se. Subs. method B Selve Sqshem oF linear
two Voriahle in OY!fk{ 1o gwal

Q}\Jo\‘\ions in
%'X x+ Y= =<0

These Two O;V‘?\QS/
Y =%0-X 2%+ 3@ = 215

2% +3(20-x ) ;z\g X:-25 =28
2x 42% 3x= 215 BXD 25

-X=25-240 \
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Use adontion [eliminakion Method to Solve
gc'x%:a

1’%:% S.\_\A :(E

20 B3 (5,3)
xX=5 l

\
37" —3‘6 =5 Elimuinate X

2X —65 -3 __\3

%%f'\%Q:i§> 5%%%

So\ve ‘03 AQA('\-\‘M/E\IM\‘{!«‘)‘.‘M VMQ“\OC’,:

3(3x -2y =2 W Ny b
=»
%\—ﬁx -\63:—6 %—X + 64 =&

To not Say O = Q
(‘P oY —(bUE,
all veals.

Solutions

Tnsinsde nombey of
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Solve. b:ﬁ Odc)\‘h‘o»'\ / E\iWLMcd‘a'aw WIQJt’hool'.

Al B3xg + 494 =13 . 21x *}(‘8/:“—‘
20X —/3’(53:%‘

X= x=3
A =\ 47
-\-L\\A 5 Fina\ AV\S

C\eow gmc\‘\'o“
Ax +24Y=5 ond then Use elimingio

’3%?)?( -\'%U :2,

S‘Q\SE’_

21—%)( x ‘(‘A o | Wi Use LCD 15
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Solve. oy addition [elinination wmethod :
10y—-2.5x — 6-53 =1 Wi Mo\"r:?\\j
% X _t.lsa =37 by Powers oy 10
0 o vemove
-2%Xx _égn =470 Aecima) P°\'d'-
5| sx —usY =310 v-270)=2320
2320
-28% —65Y =470 -5
—22523 = \%50 \6:—%
- =310
Sit\«\ Ans 5¥-15(-%)
5% + 360=370
(2, 5%=10
1T tkts was ?wchaseo\. 0K =~ A =
kids — $5
\ 5 k, ¥ ]OF\ :110
Rdols —b F10

Total <ost — $10

Use System o lineay efhs in two Variables
5 Find % oF ks T
—_—

{-lOK-w’A/-—no

SK M: @
Sk =-60

K=12
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S‘(nA The eTuoc\':ovu o oo line with S\a,De %
that Contams (0,-2)
\A_ \A\:W‘C’X“’XO

la __2_ = %(')( —O)
PRI Y —%\a=%7(-2k
%\o?e-lw‘\'x:ovm

Hnd QM line that Confuing
(5,73) =nd G1.3),

-3 -343 0.
" 6-(—1)' s+1 =0

Zero Slope = WL, => Y =b=>

|

Sind Qj‘l-ic’; \ine Yot Contming

(-2,7) & (2.

=) T3 00 ondefined)

T 2-(R) w2 o)
NO Slope = ViL. =x=0 =b{Xx= 2]




May 1, 2018

$ind e quation oY a. line That Confuins
(6,8 ond (029,
e O=C9 Y

6 -0 6

G:xq,P\\ S Shade

'X}_-"\ - ‘w‘\'}\
TR A W W AR R R T G
\a {3 = R \\/g&»
- =l O
- \},"
45t >

\,\5>

Q6 10 2 11 Sve Wedtesday.
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$ind \1’3 Consecvtive CV\TQ%QYSY Such Yt

the SSUW\> oS WWU(Q e
SQ(o{\A OWVe and > Fimes the Yaed one

9( ) ’)C'\'.l,'k'\'a

Fivst > X

SQ(OV\(} —$pXx+1 S‘.v.s-) .\.208{(,,\&.\. %O“ﬁy‘L_ \3"‘
Thid —> x+2 X % 2(7_‘.1) <3 (‘X'\'z) =134

X+2X +2 43X + 6 =134

21,22, 6Xx +@ =134
and 23 6x =126
X= 21
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Thvee Om%\es N ‘\'N‘ang\e ARBC owve

3

I\-V\C) e \omaes‘\ cma\e. c

Consecyiive €ven M‘\‘egevs.B

Al«® +|C= ‘<o
x|+ +2 | (XY _ (50 R b ¢
3x=0TY AWj\C

2 =5% 620

1"
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Find gloo COA—sZu*(ve cc)‘é) inYeq ers
/SK Hhat Fhe S Hevence o

3times The Sivsth one oo/\a Hwie Yhe
Second ONE 1S ect\m\ To 35

kv X & Xx2 2.Sivst —2:Seamd =35

3x-2% t=39

x=39

The Sum o}  PISe numbers on ¥acm<a

Sind both paSe nombers, 7( —
st N 55 L \ ’1
S:ﬂr:t. B Ree |

& x+L=\S55

ex =151 ove 17 and 2.
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54 People in o mee‘\-ma.

Males & Females onlY.

The mumbey o‘; males ;i S:Q-W\a\es weve

\wo Consecuhive uen infegers.
Semales Males K

—“\Q.YQ wewe wmove
‘:um\QS > Xx2

Yow Wany oY enck?

W\a\es 4 Females = %= 2L

+ xx2 =5 o¢ Males
cx=52 CAS Femaled

Dimenscons 05 & Yecayngular room dve

Ywo Coms. odd infegevs.

Primeyer 'S HO B+ ?—b& X
gim)\ ) Qvew. ' 1_1;.\.

X2
P =40

2L+ 2w =40
2(x) +2(x+2) =10 ‘
R=L W 2x 42x +4=10 |WwP
= 11(Q) 4y =36

[Bomsr) B
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